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NCSUIL. PR Part-1 : i) {
Write sll:}rt answers to any SIX parts. -, iz 2 ﬂd?:!.qc.(jf -z
[2 3][_2! jJ o/ P e o fiizsuds LY G
Deternine whether the given ;nalrices are multiplicative inverse of each other? [i g-:[_% 3
Simplify: y32x 10y 13 sB2x 0y L2 Gy
Simplify and write your answer in the form of a + bi % 2l P a+ b & A (i)
Find the value of m: log,, 4=0.5 log,, 4=0.5:ZEb =5 m Giv)
Calculate: log; 2x log, 81 logs 2 log, 81 22 f (v}
Define surd. _éJ/Jdk'lf;Ea (vi)
1 -Reol T e ey 4Rl pkT /i
Factorize: 4x* +3§1 : ax? +8 gjlz’(viii)

L x- 2 3 106 13k -6 B iie il (20

Use remainder theprem o find remainder when 3x° —10x% +13x -6 is divided by (x-2).

Write short answers to any SIX parts. _&.'E".:,g.lﬁ/ff Lplzlq.;_;jf -3
Find the HCF:  102xy°z , 85x%yz , 187xyz* 102xyz, 85x7yz , 187xyz* ikp il ()
Solve: x;‘-——’%:—l KT_?'——xgz-:—! B D
Solve: |3x~3| =4 15x—5| =4 ZpkreoL GiD
Define origin. e P (V)
Ify=2x+ | and x =3, then {ind v. : 'J‘"y!ﬂx Jay= %10 W

A(6,2),B(2,4) :g;"?,h’ Mdy,:m_pw.—-_i.uﬂmzé 8. (vi)
Find the mid-point of the line segment joining the pair of points: A(6,2), B(2,
é...i*/‘ JJV"JI;}:D (vi)

I]""“

Define isosceles triangle.
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élﬁb‘“.vl A;'J,LJ{IU{%LJIFKV 130° 4luv{ [YOPVIIIES: i?..fl)l (ix)

1f one angle of a parallelogram is 130°, Find the measures of iis remaining angles.

Write short answers to any SIX parts. .émi_.l.ﬁ/’? .L'.I:zu;;_Jf

e d 20 X P e S A g9 AD U5 ABC ST N '

If the given triangle ABC is equilateral triangle and AD is bisector of
anglc A, then find the value of'unknown x° and 2°,

s IS o A L 8T dom . 3em VAL SLisind st _a?ei6 A1 i)
It 3cm and 4em are the lengths of two sides of a right angle triangle, then what should be the third length
of the triangle? J—
(i) (f

A



FAL /=24
:":r:l”JJ) X7 _§..;._,"-"l-'ldsv PORy .___t,igd; (iii)
" In isosceles APQR shown in the f’gure"f'mtfw}ﬁe*tif*f and y:

a=16em , b=30em , ¢ =34cm -L,Cfg.g.._ad.:.ﬂ-fjlﬂiuﬂfugl,-‘&,ﬁf&.&.ﬁf.:_f.:.;ﬁ (iv)
Verily that the triangle having the given measures of the sides are right angled ornot:  u = l6cm ., b= 30cm .

¢ = 34em
50 N \ I ) - ! g .
Find the value of x : <l 12z ' / H2em :ér'rl”n;{'ifx (v)
aas| —nl_
x _T—"_i"",.
Define “Area of Figure”. _-__~_f-.|,.a';;',? ,’;b’u U’f (vi)
[ e ey
. 9. Nom e 1.0 B (v
Find the aren of figure: {2em s 2em 1 gL ol 3EIPE S (vid)
| H
Sem Sam

Construct a {riangle ABC in which mAB=4.6cm , mAC=4em , mZA =60° L e s ABC &it(viii)

DC[-ilIL{llcdlall 0[ 1r|mlg,h: -4—..,»;;-@-;&# (ix)
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_Ld;u 9 f._):r-.,:r/-‘ 08 Lir e s juuﬂjvw u’r_Jf f’»,-:-
I’art I1, Attempt any THREE questions. Kach question carries 08 marks. |
Question No. 9 is compulsory. '

04 X -Jy=d ;x+4y=3 :FE L 3 LAS VI () 5

Solve the linear equation by Cramer’s rule: 2x -3y =4 ;x+4y =3

n A% dn-1 - n A e An-1 5
04 Simplify: (81)"-3 . 3 = (243) . (81 3 En(3-)') (243) 2 (L)
(97)(3) W X3

04 Usc log tables {o find the value: 0.8176 x 13.64 :g:f EIk g,( J:g(; ) 6
04 Seadlab+be+cadratbte=120 a* +bi+ct =350 (L)

If a’~b’ +¢* =35and a+ b= ¢ = 12 then find the value of ab + be + ca.
(14 Solve by factor theorem: x* -2x*-3x+6 x}-2x2-5x+6 55, "'rdu’j,.b' () 7
04 Use division method 1o find the square root: 'a,_(:’” ,Ju,w‘ 2k ()

AW | | ! -~ e ,) = ot & i .
ya I()y-i-_? ]0x+x2 (x.n‘U,y:tO)
04  Solve the equation: x+~§—=2 -~—] - 6x KT%“Z(X——J -6x er*‘...rf () -8
\
04 BLr 0 EF B ME s Lzt POR 24 ()
: Construct triangle PQR. Draw their altitudes and show that they are concurrent:
E mPQ =4.5cm . mQR =3.9cm , mZR = 45°

-t bl Sobe il S 1 B ;fwta.a_,u.j/ (SEatt 9

Prove that any point on the bisector of an angle is equidistant from its arms.
pesr RBED e

Juﬂ.’l/oc,;)uu stz gl e sl Lhﬁﬁ‘,ﬁ.’/‘é‘:ﬁ?
Prove that triangles on equal bases and ot‘ equal altitudes are equal in area.
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